I=bNY G+ RREZAY B
MINOURN Seat Bag Stabilizer SBS'250 instruction manual

SBS-250
5pS-250 1./ [ O
About SBS-250 4"944924'333126

B RV L—)VICHLD T %
NilE 150mm O, >— kN 7D
KRN 2B 1T % 1 ORFEHE T,
H—RY L —)VITIZRETT,
TR #5056 7V I &4,
PIEICIER MV — W05 8%
TEET,

mEREEHAR © TEEAR 1 FR]

Warranty Period : 1 year

REL I3 2 7Y A b
I 7EE W,

One year warranty from the
date of purchase.
For more details, visit our

A seat bag holder with 150mm interior width designed web site.

to keep your bag secure from rocking side to side.
Compatible with most saddle rails (except carbon) and

made from light but strong #5056 Aluminum. <fER. In Use Style > " )
Easily install water bottle cages off the side. ERam%h Schematics

HYft#lk/ Bracket ——> /

) {3775, How To Install

WEIZTE M4 758 L > F,/ Required Tool : M4 Hex WRench ) e 57;?;13; V/Vgsf?er//v

Bz, il 2 M mid T RV L—)LONRNC S THW,
L—IVciZHDIAL X 51L& T,

AR LRI ETY RV L=V 2 AT K5I L THTHL,

ATV T Tyl Uiz M5x16 RV F 2R UIARE T, N
AKEDDIEDEZR L LoD ERFFENZMERAHLEIC LT &

M5x16 RJL
M5x16 Bolt

" .

K, Frame

iR Lz &, M5x16 RV b2 LoD ERIOTHIEL X,

Apply the bracket into the saddle rail from behind, and set it
between the rails.

Sandwich the saddle rail with the SBS-250's frame and the
bracket.

M5x10 RJV & GR MLr—IEER)

Screw the M5x16 bolt with spring washer into the thread hole. M5x10 Bolt (for mounting bottle cage)
Adjust the position of the SBS-250 so there is no play, then
tighten down the bolts firmly.

AR DA CALICIE, (HED M5x10 RV h7Z2fli>T
ZNZNUCR VT —VZWONT BT ENTEEXT,

You can install water bottle cage to the grommet on
each side by using the supplied M5x10 bolts.

A&,/ Max Load
2 kgs

R MIVr—IDEE  Installing Bottle Cage

ABaalc K E G L TFAREDAZEIMAZL
TS, BRIET BHEZTNDBYVET,

Do not apply too much downward force.
The product should be damaged..

N HRARM B T 503-2312 IKRRERN\EBHFE FE 1341 MINOURA JAPAN
F':EL - bﬁ%/ Contact Fax: 0584-27-7505 Mail: minoura@minoura.jp URL: www.minoura.jp Made in Japan




